[ > restart :
| LA ECUACION LINEAL HOMOGENEA
> Ecuacion := diff (y(x), x$2) + 4-diff (y(x), x) +13-y(x) =0;
2

Ecuacion := d—2 y(x) +4 (i y(x)) +13y(x) =0 1)
dx dx
[ > SolucionGeneral := dsolve(Ecuacion);
i SolucionGeneral :=y(x) = _Cle ?*sin(3x) +_C2 e 2*cos(3 x) 2)
> Raiz; :==-2 +3-I;Raiz, :=-2 — 31,
Raiz, ;== -2+ 31
Raiz,:= -2 —31 3)
> EcuacionCaracteristica := expand( (m —Raiz, ) - (m — Raiz,) ) =0;
i EcuacionCaracteristica:= m* +4m + 13 =0 4)
| > restart
> Raiz; :=-1;Raiz, :=-1; Raiz; :=-1+I; Raiz, :=-1 — |
Raiz, ;= -1
Raiz, := -1
Raizg:= -1 +1
Raiz,:= -1 —1 (5)
> Ecuacioncaracteristica := expand( (m — Raiz, ) - (m —Raiz,) - (m — Raiz;) - (m —Raiz,) )
= 0,
i Ecuacioncaracteristica:=m* +4m* +2 +7m* +6m=0 (6)
> EcuacionDiferencial := y™'+4-y"+7-y"+6-y'+2-y=0;
EcuacionDiferencial := d—44 y(x) +4 (d—z y(x)) +7 (d—zz y(x)] +6 (i y(x)j 7
dx dx dx dx
i +2y(x)=0
> SolucionGeneral := dsolve(EcuacionDiferencial);
SolucionGeneral :=y(x) = _Cle *+ C2e*x+ _C3e *sin(x) +_C4e *cos(x) (8)




